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KNOWING OUR NUMBERS

Solved Examples

1. Find the greatest and smallest number from the given
numbers.

56731, 57361, 51637, 51736, 53176

° Watch Video Solution



https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_FrG5uxISbUzJ

2. Write the following numbers in the expanded form.

60, 01, 009

o Watch Video Solution

3. Write the following numbers in the expanded form.

8, 56, 43, 210

° Watch Video Solution

4. Write the given numbers in Roman numerals :

967

o View Text Solution



https://dl.doubtnut.com/l/_oHwgFGcjwxAk
https://dl.doubtnut.com/l/_VNcxP7Joeds5
https://dl.doubtnut.com/l/_pprtDhoTuHu8
https://dl.doubtnut.com/l/_jDm9ShxLIajI

5. Write the given numbers in Roman numerals :

534

° View Text Solution

6. Write the given numbers in Roman numerals :

385

° View Text Solution

7. The population of Karnataka, Delhi and Gujarat are
respectively b4, 37,211, 7, 64, 46, 300 and 12, 43, 998. What

is combined population of the three states?

° Watch Video Solution



https://dl.doubtnut.com/l/_jDm9ShxLIajI
https://dl.doubtnut.com/l/_VSFFG2QzHhau
https://dl.doubtnut.com/l/_wIqKHi617JPX
https://dl.doubtnut.com/l/_6YjHEvISFvJw

8. Write the following in words according to Indian System of
Numeration :

5863496

° Watch Video Solution

9. Write the following in words according to Indian System of
Numeration :

7425426

o Watch Video Solution

10. Write the following in words according to Indian System
of Numeration :

25824320



https://dl.doubtnut.com/l/_6YjHEvISFvJw
https://dl.doubtnut.com/l/_HANU88LIM8PQ
https://dl.doubtnut.com/l/_hKGhBx785vQg

° Watch Video Solution

11. Write the following in words according to Indian System of
Numeration :

16289519

o Watch Video Solution

12. Form the largest 4 - digit number using any

4,9,8

o Watch Video Solution

13. Form the largest 4 - digit number using any

7,3,0


https://dl.doubtnut.com/l/_hKGhBx785vQg
https://dl.doubtnut.com/l/_VerpRDsxwKpy
https://dl.doubtnut.com/l/_vNR3ugtB0e4F
https://dl.doubtnut.com/l/_4Dgc8PMKLIpK

° Watch Video Solution

14. Arrange the following in descending order :

12353, 189625, 125963, 82081

° Watch Video Solution

15. Arrange the following in descending order :

962819237, 659640, 11398

o Watch Video Solution

16. Write the following in words according to International
System of Numeration :

123527891


https://dl.doubtnut.com/l/_4Dgc8PMKLIpK
https://dl.doubtnut.com/l/_8a1h4zvKebdj
https://dl.doubtnut.com/l/_A2gTifiuML5q
https://dl.doubtnut.com/l/_bGaaU5FKXJw4

° Watch Video Solution

17. Write the following in words according to International
System of Numeration :

183523512

° Watch Video Solution

18. Write the following in words according to International
System of Numeration :

9058009

° Watch Video Solution



https://dl.doubtnut.com/l/_bGaaU5FKXJw4
https://dl.doubtnut.com/l/_OwIQ7zwehqRU
https://dl.doubtnut.com/l/_UdweiLzkubv9

19. Write the following in words according to International
System of Numeration :

2348828

o View Text Solution

20. Make the greatest and the smallest 5 - digit numbers
using any five different digits with the condition given below :

Digit 8 is always at hundreds place.

O Watch Video Solution

21. Make the greatest and the smallest 5 - digit numbers
using any five different digits with the condition given below :

Digit 1is always at thousands place.


https://dl.doubtnut.com/l/_ZIuznXoeEE6t
https://dl.doubtnut.com/l/_8NMHMAXqeIQc
https://dl.doubtnut.com/l/_ZMK36Wl5AqBl

° Watch Video Solution

22. Each book has 20 pages. Every day 12,800 books are

printed. How many total pages are printed every day?

° Watch Video Solution

23. Write the numerals and place the commas.
Seven crore thirty two lakh fifty four thousand two hundred

sixty three

° Watch Video Solution

24. Write the numerals and place the commas.

One hundred eighty five million three hundred twenty three


https://dl.doubtnut.com/l/_ZMK36Wl5AqBl
https://dl.doubtnut.com/l/_MCbEOtQ3pWRT
https://dl.doubtnut.com/l/_pG7qBQcMfjeF
https://dl.doubtnut.com/l/_XatXnHAYucAz

thousand two hundred fifty one

o Watch Video Solution

25. Write the numerals and place the commas.

Sixty two lakh nine thousand six hundred nineteen

o Watch Video Solution

26. Write the numerals and place the commas.
Two million three hundred forty six thousand eight hundred

twenty five

° Watch Video Solution



https://dl.doubtnut.com/l/_XatXnHAYucAz
https://dl.doubtnut.com/l/_ymcKkJGtXB3f
https://dl.doubtnut.com/l/_kNoaS627jEQ2

27. Write the numerals and place the commas.

One hundred million two hundred thousand three hundred

o Watch Video Solution

28. Express the following as Hindu - Arabic numerals.

CLIX

° Watch Video Solution

29. Express the following as Hindu - Arabic numerals.

MCDX

o Watch Video Solution



https://dl.doubtnut.com/l/_cnBZMpA8IhMb
https://dl.doubtnut.com/l/_e5ILGNY7kbyQ
https://dl.doubtnut.com/l/_9IEsV49pPknC
https://dl.doubtnut.com/l/_nmP0roJvO8o5

30. Express the following as Hindu - Arabic numerals.

MDCXC

° Watch Video Solution

31. Arrange the following in ascending order.

39126, 39216, 42216, 38158, 41206

° Watch Video Solution

32. Arrange the following in ascending order.

99896, 98996, 99986, 99968, 89996

° Watch Video Solution



https://dl.doubtnut.com/l/_nmP0roJvO8o5
https://dl.doubtnut.com/l/_peaPNRHAN3Yr
https://dl.doubtnut.com/l/_rYZrU6Q6hVGj

33. Estimate the following sum to the nearest thousands.

3298 + 6281

o Watch Video Solution

34. Estimate the following sum to the nearest thousands.

1215 + 987

° Watch Video Solution

35. Estimate the following sum to the nearest thousands.

3940 + 1850

o Watch Video Solution



https://dl.doubtnut.com/l/_NSWA49mPUh26
https://dl.doubtnut.com/l/_ySxUuoPiWLaX
https://dl.doubtnut.com/l/_Xu0WXtX41Pq8
https://dl.doubtnut.com/l/_QlbXmxSORxvz

36. Exchange the digits 2 and 7 of the following numbers and
compare the new number with the previous one:

172984

° Watch Video Solution

37. Exchange the digits 2 and 7 of the following numbers and
compare the new number with the previous one:

578582

° Watch Video Solution

38. Estimate the following difference to the nearest

thousands.

5693 — 3254

| &~


https://dl.doubtnut.com/l/_QlbXmxSORxvz
https://dl.doubtnut.com/l/_u978tIB5pKWD
https://dl.doubtnut.com/l/_14IJSyBSpy6j

[ W Watch Video Solution ]

39. Estimate the following difference to the nearest
thousands.

3961 — 1280

° Watch Video Solution

40. Estimate the following difference to the nearest
thousands.

7612 — 2893

° View Text Solution



https://dl.doubtnut.com/l/_14IJSyBSpy6j
https://dl.doubtnut.com/l/_hWrLQkRC1Nb1
https://dl.doubtnut.com/l/_ulkP4i2OZBDK

41. Simplify the following :

48 + (100 — 4)

° Watch Video Solution

42. Simplify the following :

105 x (20 — 10)

o Watch Video Solution

43. Simplify the following :

36 + (40 x 20)

° Watch Video Solution



https://dl.doubtnut.com/l/_ppeNHcDQDHlw
https://dl.doubtnut.com/l/_26OtkeRvD4gn
https://dl.doubtnut.com/l/_J5FhlchAC6Ln
https://dl.doubtnut.com/l/_WQ8cLpYXZS1A

44. Estimate the following product to the nearest hundreds.

72 x 439

° View Text Solution

45, Estimate the following product to the nearest hundreds.

96 x 385

° View Text Solution

46. Estimate the following product to the nearest hundreds.

342 x 248

° View Text Solution



https://dl.doubtnut.com/l/_WQ8cLpYXZS1A
https://dl.doubtnut.com/l/_DCxZXfvoiEWQ
https://dl.doubtnut.com/l/_MxsnvAC9ZmyP

47. Simplify the following by expanding brackets.

9 x 108

o Watch Video Solution

48. Simplify the following by expanding brackets.

40 x 150

° Watch Video Solution

49. Simplify the following by expanding brackets.

38 x 96

o Watch Video Solution



https://dl.doubtnut.com/l/_q74aQ9j3m5iE
https://dl.doubtnut.com/l/_6KOqZ8yUGml3
https://dl.doubtnut.com/l/_7uBlOSu8dC90
https://dl.doubtnut.com/l/_1MSOklIwJKYV

50. Compare the following :

98465, 98015

° Watch Video Solution

51. Compare the following :

328450, 314650

° Watch Video Solution

52. Compare the following :

248660, 24866

o Watch Video Solution



https://dl.doubtnut.com/l/_1MSOklIwJKYV
https://dl.doubtnut.com/l/_8hQG2CL9NJB3
https://dl.doubtnut.com/l/_PgLy79600WvJ

1. Compare the following :

9242 and 367

o View Text Solution

2. Compare the following :

5640 and 5784

° View Text Solution

3. Compare the following :

8263 and 7893

° View Text Solution



https://dl.doubtnut.com/l/_mdy0NBY6roeQ
https://dl.doubtnut.com/l/_5mTGLBSNLQq9
https://dl.doubtnut.com/l/_vvTsrvSevghV

4. Arrange the following numbers in ascending order.

5348, 6812, 5281, 356, 9812

o Watch Video Solution

5. Arrange the following numbers in descending order.

4285, 631, 2892, 3800, 4504

o Watch Video Solution

6. Form the smallest and largest 4-digit number in each of the
following without repeating the digits.

3,8,6,1

| o Wiak~h \NidaAn CAaliikian



https://dl.doubtnut.com/l/_vvTsrvSevghV
https://dl.doubtnut.com/l/_ZsrxA4YsXAiK
https://dl.doubtnut.com/l/_UiXzwSSTGJOU
https://dl.doubtnut.com/l/_lZIvvD0duDz9
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7.Form the smallest and largest 4-digit number in each of the
following without repeating the digits.

4,0,2, 3

o Watch Video Solution

8. Form the greatest and smallest 5-digit number in each of
the following by repeating any one of the digits. Also, use
each digit in the number at least once.

5,0,8

° Watch Video Solution



https://dl.doubtnut.com/l/_lZIvvD0duDz9
https://dl.doubtnut.com/l/_d9caJ6iaSNuf
https://dl.doubtnut.com/l/_RU261mpwNeKJ

9. Form the greatest and smallest 5-digit number in each of
the following by repeating any one of the digits. Also, use
each digit in the number at least once.

3,4,2,6

o Watch Video Solution

10. Write the number names of each of the following:

5,04,326.

o View Text Solution

11. Write the number names of each of the following:

38, 96, 405

| ° Watch Video Solution


https://dl.doubtnut.com/l/_NCli1c5qZUab
https://dl.doubtnut.com/l/_Eauhu2KuzMrc
https://dl.doubtnut.com/l/_OV3dXYBTioUP

12. Write the number names of each of the following:

1, 23, 40, 008

° Watch Video Solution

13. Write the following in expanded form.

9863402

° Watch Video Solution

14. Write the following in expanded form.

23400

o Watch Video Solution



https://dl.doubtnut.com/l/_OV3dXYBTioUP
https://dl.doubtnut.com/l/_vWPeQqqMYb8i
https://dl.doubtnut.com/l/_0uRGwwhZlNct
https://dl.doubtnut.com/l/_09Ae6iXm3nxa

15. Write the place value of the underlined digits Write the
place value of the underlined digits

38695

° View Text Solution

16. Write the place value of the underlined digit

4020803

o Watch Video Solution

17. Write the place value of the underlined digits Write the
place value of the underlined digits

326152



https://dl.doubtnut.com/l/_09Ae6iXm3nxa
https://dl.doubtnut.com/l/_8dwm2mFU4xEA
https://dl.doubtnut.com/l/_5IYNVZfYC4lX
https://dl.doubtnut.com/l/_R10EGCQENLx1

| ° View Text Solution

18. Write the following numerals in words in both Indian and
International System of Numeration.

394261

o Watch Video Solution

19. Write the following numerals in words in both Indian and
International System of Numeration.

5430030

° Watch Video Solution



https://dl.doubtnut.com/l/_R10EGCQENLx1
https://dl.doubtnut.com/l/_Tsn1aT08nPgo
https://dl.doubtnut.com/l/_KkBskaBeY4YQ

20. Write the following numerals in words in both Indian and
International System of Numeration.

19860005

° Watch Video Solution

21. Place the commas in each of the following using both
Indian and International System of Numeration.

1232843

° Watch Video Solution

22. Place the commas in each of the following using both
Indian and International System of Numeration.

920040


https://dl.doubtnut.com/l/_h2PzcA91otCT
https://dl.doubtnut.com/l/_iKfQsFwvnbH0
https://dl.doubtnut.com/l/_zZq7DCkhlZDT

° Watch Video Solution

23. Place the commas in each of the following using both
Indian and International System of Numeration.

86920605

O Watch Video Solution

24. Mayank was asked to multiply 1936 by 36. Instead, he
multiplied 1963 by 36. What is the difference between the

correct answer and incorrect answer?

° Watch Video Solution



https://dl.doubtnut.com/l/_zZq7DCkhlZDT
https://dl.doubtnut.com/l/_KkmW2wjt9mtX
https://dl.doubtnut.com/l/_3bJqvdATghqc

25.The distance between Riya's and Sameer's house is 105683
m. The distance between Sameer's and Shweta's house is
98654 m. What is the total distance (in km) Riya covers if she

first goes to Sameer's house and then Shweta's house?

o Watch Video Solution

26. Estimate each of the following by rounding off to nearest
thousands.

9683 + 4815

o View Text Solution

27. Estimate each of the following by rounding off to nearest

thousands.


https://dl.doubtnut.com/l/_L0y598q1zK1b
https://dl.doubtnut.com/l/_mT3KhnXO2KLY
https://dl.doubtnut.com/l/_ODbG3ZrpNOW0

3945 — 1243

o View Text Solution

28. Estimate each of the following by rounding off to nearest
thousands.

3042 x 1101

o View Text Solution

29. Estimate each of the following by rounding off to nearest

hundreds.

482 + 691 + 3413

° View Text Solution



https://dl.doubtnut.com/l/_ODbG3ZrpNOW0
https://dl.doubtnut.com/l/_wZhN4Ia8mEtP
https://dl.doubtnut.com/l/_6mCHBFE7hhQ8
https://dl.doubtnut.com/l/_pKjr4Rf8JAKf

30. Estimate each of the following by rounding off to nearest
hundreds.

8215 — 389

o View Text Solution

31. Estimate each of the following by rounding off to nearest
hundreds.

5632 + 8888

° View Text Solution

32. Estimate each of the following by rounding off to nearest
hundreds.

932 — 800

| 1


https://dl.doubtnut.com/l/_pKjr4Rf8JAKf
https://dl.doubtnut.com/l/_0uOjpAm9SAWK
https://dl.doubtnut.com/l/_F2peLD9rcOAW

l &J View Text Solution

33. Simplify :

1586 — (300 + 821)

o Watch Video Solution

34. Simplify :

3281 + (241 — 130)

o Watch Video Solution

35. Simplify :

126 + (15 x 13)

° Watch Video Solution



https://dl.doubtnut.com/l/_F2peLD9rcOAW
https://dl.doubtnut.com/l/_W389lFTVYyiO
https://dl.doubtnut.com/l/_pm4tIFTa1zDN
https://dl.doubtnut.com/l/_Pzd99KhyqsyC

36. Simplify :

198 x (42 + 58)

° Watch Video Solution

37. By using brackets, solve the following :

92 x 48

o Watch Video Solution

38. By using brackets, solve the following :

32 x 104

° Watch Video Solution



https://dl.doubtnut.com/l/_Pzd99KhyqsyC
https://dl.doubtnut.com/l/_63GW9LaW4xdF
https://dl.doubtnut.com/l/_K5vaA70mV2Eq
https://dl.doubtnut.com/l/_RBvB5V3IqgdW

39. Write the following in Hindu-Arabic numeral.

XXX

° Watch Video Solution

40. Write the following in Hindu-Arabic numeral.

CC

° Watch Video Solution

41. Write the following in Hindu-Arabic numeral.

MM

° Watch Video Solution



https://dl.doubtnut.com/l/_6hz3tZVMnLiJ
https://dl.doubtnut.com/l/_eoVhkdhmv03s
https://dl.doubtnut.com/l/_Zpae21ElCIcn
https://dl.doubtnut.com/l/_HtiucZ193tyc

42. Write the following in Roman numeral.

20

° Watch Video Solution

43. Write the following in Roman numeral.

300

° Watch Video Solution

44, Write the following in Roman numeral.

3

o Watch Video Solution



https://dl.doubtnut.com/l/_HtiucZ193tyc
https://dl.doubtnut.com/l/_yfj3h2h5dhvN
https://dl.doubtnut.com/l/_ZvnaX8FfRtVq

45. Write the following in Hindu-Arabic numeral.

LXX

° Watch Video Solution

46. Write the following in Hindu-Arabic numeral.

XVl

° Watch Video Solution

47. Write the following in Hindu-Arabic numeral.

MClI

° Watch Video Solution



https://dl.doubtnut.com/l/_YRHZNVlmsLBJ
https://dl.doubtnut.com/l/_njKpCgiZSFqA
https://dl.doubtnut.com/l/_AxBbdDMxcSXY
https://dl.doubtnut.com/l/_CKBla95rtVAQ

48. Write the following in Roman numeral.

86

° Watch Video Solution

49. Write the following in Roman numeral.

38

° Watch Video Solution

50. Write the following in Roman numeral.

6

o Watch Video Solution



https://dl.doubtnut.com/l/_CKBla95rtVAQ
https://dl.doubtnut.com/l/_yp2eoF9ad9EH
https://dl.doubtnut.com/l/_bBzU4nWemthE

51. Write the following in Hindu-Arabic numeral.

XL

° Watch Video Solution

52. Write the following in Hindu-Arabic numeral.

XC

° Watch Video Solution

53. Write the following in Hindu-Arabic numeral.

M

° Watch Video Solution



https://dl.doubtnut.com/l/_G0AIgYbXqV8P
https://dl.doubtnut.com/l/_OS6QeukEdnox
https://dl.doubtnut.com/l/_r27Zn3xwcanG
https://dl.doubtnut.com/l/_sPdNMKWTYpaL

54. Write the following in Roman numeral.

4

° Watch Video Solution

55. Write the following in Roman numeral.

9

° Watch Video Solution

56. Write the following in Roman numeral.

400

o Watch Video Solution



https://dl.doubtnut.com/l/_sPdNMKWTYpaL
https://dl.doubtnut.com/l/_LEMTZnZAFZdL
https://dl.doubtnut.com/l/_IKmPCjDfFwFj

57. write the following in Hindu-Arabic numeral.

XV

° Watch Video Solution

58. write the following in Hindu-Arabic numeral.

CXL

° Watch Video Solution

59. write the following in Hindu-Arabic numeral.

MCD

° Watch Video Solution



https://dl.doubtnut.com/l/_o6gCAKo9F720
https://dl.doubtnut.com/l/_SdnN91kepgpF
https://dl.doubtnut.com/l/_ZB7Zl9sEyUja
https://dl.doubtnut.com/l/_2M3WvqVPdC9X

60. Write the following in Roman numeral.

1090

° Watch Video Solution

61. Write the following in Roman numeral.

590

° Watch Video Solution

62. Write the following in Roman numeral.

19

o Watch Video Solution



https://dl.doubtnut.com/l/_2M3WvqVPdC9X
https://dl.doubtnut.com/l/_zzvRSGXOIGUv
https://dl.doubtnut.com/l/_3aLv7zPKtRDB

Ncert Section Exercise 11

1. Fill in the blanks:

1lakh = ten thousand.

o Watch Video Solution

2. Fill in the blanks:

1 million=___ hundred thousand.

° Watch Video Solution

3. Fill in the blanks:

1crore=__ ten lakh.

° Watch Video Solution



https://dl.doubtnut.com/l/_CQmSfuHErO2G
https://dl.doubtnut.com/l/_vxAvlCj16bMy
https://dl.doubtnut.com/l/_t2u5a396ufWa

4. Fill in the blanks:

1crore=__ million.

° Watch Video Solution

5. Fill in the blanks:

Tmillion =___lakh.

° Watch Video Solution

6. Place commas correctly and write the numerals:
Seventy three lakh seventy five thousand three hundred

seven.



https://dl.doubtnut.com/l/_t2u5a396ufWa
https://dl.doubtnut.com/l/_QdNA4KQ2h6ND
https://dl.doubtnut.com/l/_SP7tq0GKpV7d
https://dl.doubtnut.com/l/_MfV7sukyQURl
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7. Place commas correctly and write the numerals: (a) Seventy
three lakh seventy five thousand three hundred seven. (b)
Nine crore five lakh forty one. (c) Seven crore fifty two lakh

twenty one thousand three hundred two. (d) Fifty eight milli

° Watch Video Solution

8. Place commas correctly and write the numerals:
Seven crore fifty two lakh twenty one thousand three

hundred two.

° Watch Video Solution



https://dl.doubtnut.com/l/_MfV7sukyQURl
https://dl.doubtnut.com/l/_8iZw08NYyELU
https://dl.doubtnut.com/l/_YmLPxgjcwbxS

9. Place commas correctly and write the numerals:
Fifty eight million four hundred twenty three thousand two

hundred two.

° Watch Video Solution

10. Place commas correctly and write the numerals: (a)
Seventy three lakh seventy five thousand three hundred
seven. (b) Nine crore five lakh forty one. (c) Seven crore fifty
two lakh twenty one thousand three hundred two. (d) Fifty

eight milli

° Watch Video Solution



https://dl.doubtnut.com/l/_8VLzKJKDuwqT
https://dl.doubtnut.com/l/_ObscHaoJ50sE

11. Insert commas suitably and write the names according to
Indian System of Numeration : (a) 87595762 (b) 8546283 (c)

99900046 (d) 98432701

° Watch Video Solution

12. Insert commas suitably and write the names according to
Indian System of Numeration :

8546283

° Watch Video Solution

13. Insert commas suitably and write the names according to
Indian System of Numeration :

99900046


https://dl.doubtnut.com/l/_L8YZrjPOoacH
https://dl.doubtnut.com/l/_iufOWqT9fDW4
https://dl.doubtnut.com/l/_cAhnerwD52eP

° Watch Video Solution

14. Insert commas suitably and write the names according to
Indian System of Numeration : (a) 87595762 (b) 8546283 (c)

99900046 (d) 98432701

° Watch Video Solution

15. Insert commas suitably and write the names according to
International System of Numeration : (a) 78921092 (b)

7452283 (c) 99985102 (d) 48049831

° Watch Video Solution



https://dl.doubtnut.com/l/_cAhnerwD52eP
https://dl.doubtnut.com/l/_77WR2PIgm8r7
https://dl.doubtnut.com/l/_lVtYS8kYkkgq

16. Insert commas suitably and write the names according to
International System of Numeration : (a) 78921092 (b)

7452283 (c) 99985102 (d) 48049831

o Watch Video Solution

17. Insert commas suitably and write the names according to
International System of Numeration : (a) 78921092 (b)

7452283 (c) 99985102 (d) 48049831

° Watch Video Solution

18. Insert commas suitably and write the names according to
International System of Numeration : (a) 78921092 (b)

7452283 (c) 99985102 (d) 48049831


https://dl.doubtnut.com/l/_GEMYkN99IZdk
https://dl.doubtnut.com/l/_WmImHnO0Kb4f
https://dl.doubtnut.com/l/_GCm0bs6ckXtz

° Watch Video Solution

Ncert Section Exercise 12

1. A book exhibition was held for four days in a school. The

number of tickets sold at the counter on the first, second,
third and final days were respectively 1094, 1812, 2050 and
2751. Find the total number of tickets sold on all the four

days.

o Watch Video Solution

2. Shekhar is a famous cricket player. He has so far scored
6980 runs in test matches. He wishes to complete 10,000

runs. How many more runs does he need?


https://dl.doubtnut.com/l/_GCm0bs6ckXtz
https://dl.doubtnut.com/l/_j8shvjbAHMGV
https://dl.doubtnut.com/l/_jAKUkev09U0t

° Watch Video Solution

3.In an election, the successful candidate registered 5,77,500
votes and his nearest rival secured 3,48,700 votes. By what

margin did the successful candidate win the election?

o Watch Video Solution

4. Kirti bookstore sold books worth Rs 2,85,891 in the first
week of June and books worth Rs 4,00,768 in the second week
of the month. How much was the sale for the two weeks to
gether ? In which week was the sale greater and by how

much?

o Watch Video Solution



https://dl.doubtnut.com/l/_jAKUkev09U0t
https://dl.doubtnut.com/l/_tmG70lTo4BkJ
https://dl.doubtnut.com/l/_gtv9u04euyI1

5. Find the difference between the greatest and least
numbers that can be written using the digits 6, 2, 7, 4, 3 each

only once.

o Watch Video Solution

6. A machine, on an average, manufactures 2,825 screws a day.
How many screws did it produce in the month of January

20067

O Watch Video Solution

7. Merchant had Rs 78,592 with her. She placed an order for
purchasing 40 radio sets at Rs 1200 each. How much money

will remain with her after the purchase?


https://dl.doubtnut.com/l/_MP6bd5W0hxw2
https://dl.doubtnut.com/l/_uK3kqaNRx2Yp
https://dl.doubtnut.com/l/_tW5JZ0F6u1jj

° Watch Video Solution

8. A student multiplied 7236 by 65 instead of multiplying by
56. By how much was his answer greater than the correct

answer? (Hint: Do you need to do both the multiplications?

° Watch Video Solution

9. To stitch a shirt 2m 15cm cloth is needed. Out of 40m cloth,
how many shirts can be stitched and how much cloth will

remain?

° Watch Video Solution



https://dl.doubtnut.com/l/_tW5JZ0F6u1jj
https://dl.doubtnut.com/l/_orIWpgkQr4s5
https://dl.doubtnut.com/l/_YAEawZxGsA07

10. Medicine is packed in boxes, each weighing 4kg 500g. How
many such boxes can be loaded in a van which cannot carry

beyond 800kg

° Watch Video Solution

11. The distance between the school and the house of a
student’s house is 1km and 875m. Everyday she walks both

ways. Find the total distance covered by her in six days

° Watch Video Solution

12. A vessel has 4 litres and 500m! of curd. In how many

glasses, each of 25ml capacity, can it be filled?

| ° Watch Video Solution


https://dl.doubtnut.com/l/_eczD7mnfIL3y
https://dl.doubtnut.com/l/_MIZX2e5HeURV
https://dl.doubtnut.com/l/_YxsKmGqz1BVG

Ncert Section Exercise 13

1. Estimate each of the following using general rule: (a) 730 +

998 (b) 796 314 (c) 12,904 +2,888 (d) 28,292 21,496 Make ten
more such examples of addition, subtraction and estimation

of their outcome.

o Watch Video Solution

2. Estimate each of the following using general rule:

730 + 998

° Watch Video Solution



https://dl.doubtnut.com/l/_YxsKmGqz1BVG
https://dl.doubtnut.com/l/_cIVbC3os93np
https://dl.doubtnut.com/l/_5tZirjLKftrd
https://dl.doubtnut.com/l/_sBhfam30Rj1g

3. Estimate each of the following using general rule:

730 + 998

° Watch Video Solution

4. Estimate each of the following using general rule:

730 + 998

° Watch Video Solution

5. Give a rough estimate (by rounding off to nearest
hundreds) and also a closer estimate (by rounding off to
nearest tens) :

439 + 334 + 4, 317

° Watch Video Solution



https://dl.doubtnut.com/l/_sBhfam30Rj1g
https://dl.doubtnut.com/l/_bRWk3etdBWtq
https://dl.doubtnut.com/l/_dZLLdvXsyNAj

6. Give a rough estimate (by rounding off to nearest
hundreds) and also a closer estimate (by rounding off to
nearest tens) : (a) 439 + 334 + 4,317 (b) 1,08,734 47,599 (c) 8325

491 (d) 4,89,348 48,365 Make four more such examples.

o Watch Video Solution

7. Give a rough estimate (by rounding off to nearest
hundreds) and also a closer estimate (by rounding off to
nearest tens) : (a) 439 + 334 + 4,317 (b) 1,08,734 47,599 (c) 8325

491 (d) 4,89,348 48,365 Make four more such examples.

° Watch Video Solution



https://dl.doubtnut.com/l/_dZLLdvXsyNAj
https://dl.doubtnut.com/l/_SP0Pe7ao9A11
https://dl.doubtnut.com/l/_skCJHhAGzNxQ

8. Give a rough estimate (by rounding off to nearest
hundreds) and also a closer estimate (by rounding off to
nearest tens) :

4, 89, 348 — 48, 365

° Watch Video Solution

9. Estimate the following products using general rule:

578 x 161

O Watch Video Solution

10. Estimate the following products using general rule:

5281 x 3491

| ° Watch Video Solution


https://dl.doubtnut.com/l/_nzaj0gARFtwT
https://dl.doubtnut.com/l/_BjBHNrZ2bK32
https://dl.doubtnut.com/l/_r7lDfcPFlu8d

11. Estimate the following products using general rule:

1291 x 592

° Watch Video Solution

12. Estimate the following products using general rule:

9250X29

° Watch Video Solution

Exercise Multiple Choice Questions Level 1

1. The place value of the digit 6 in the number 576238 is


https://dl.doubtnut.com/l/_r7lDfcPFlu8d
https://dl.doubtnut.com/l/_lxUm3MZ6Se8h
https://dl.doubtnut.com/l/_JGfLCgykMpSw
https://dl.doubtnut.com/l/_4qj6GFazFTbJ

A. 6200

B.6

C. 6000

D. 1000

Answer: C

o Watch Video Solution

2. 6580 rounds off to the nearest thousands is

A. 7000

B. 6000

C. 6600

D. 6500


https://dl.doubtnut.com/l/_4qj6GFazFTbJ
https://dl.doubtnut.com/l/_7tvDKBFzbjI7

Answer: A

° Watch Video Solution

3. The Roman numeral of 92 is

A. CXII

B. XClI

C. LIV

D. LvVIlI

Answer: B

O Watch Video Solution



https://dl.doubtnut.com/l/_7tvDKBFzbjI7
https://dl.doubtnut.com/l/_rzPgbDh0cmmc

4. Forty six thousand eight hundred forty two in numerals is
A. 46428
B. 46248
C. 46842

D. 64824

Answer: C

° Watch Video Solution

5. Which of the following numbers in Roman numerals is

incorrect?


https://dl.doubtnut.com/l/_ZAX5EWgC8YHs
https://dl.doubtnut.com/l/_svnAsLPqP98C

A. LXXX

B. LXX

C.LX

D. LLX

Answer: D

o Watch Video Solution

6. How many zeroes are there in ten lakh?

A.6

B.7

C.8

D.4


https://dl.doubtnut.com/l/_svnAsLPqP98C
https://dl.doubtnut.com/l/_Iipph1Zxv2Za

Answer: A

° Watch Video Solution

7. The Hindu-Arabic numeral for MCV is

A. 1115

B. 1105

C.1015

D. 1150

Answer: B

° Watch Video Solution



https://dl.doubtnut.com/l/_Iipph1Zxv2Za
https://dl.doubtnut.com/l/_84woESxVZKuW

8. The symbol | can be subtracted from

A.Vonly

B. X only

C.Lonly

D.Both V and X

Answer: D

O Watch Video Solution

9. Which of the following set of numbers are arranged in

descending order?

A. 1356, 1635, 1520, 1536


https://dl.doubtnut.com/l/_rnxPRuRMkNcN
https://dl.doubtnut.com/l/_G07QrMGS7vo5

B. 1635, 1520, 1356, 1536

C. 1356, 1520, 1536, 1635

D. 1635, 1536, 1520, 1356

Answer: D

o Watch Video Solution

10. The successor of 1 million is

A. 2 millions

B. 1000001

C. 100001

D. 10001


https://dl.doubtnut.com/l/_G07QrMGS7vo5
https://dl.doubtnut.com/l/_Xo2d59sr372S

Answer: B

o Watch Video Solution

11. The number 35769 rounds off to the nearest hundred is

A. 4000

B. 36000

C. 35800

D. 35000

Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_Xo2d59sr372S
https://dl.doubtnut.com/l/_HzH3UBVm5tQ3
https://dl.doubtnut.com/l/_6oW88hxsj6Dj

12. The expanded form of 40,02,382 is

4 x 10,00, 000 + 2 x 1,00,000 + 3 x 1,000 + 8 x 10 + 2

B.4 x 10, 00,000 + 2 x 1,000 + 3 x 100 + 8 x 10 + 2

C.4 x 1,00,000 + 2 x 10,000 + 3 x 1,000 4+ 8 x 1

D. None of these

Answer: B

° Watch Video Solution

13. The sum of largest 6-digit number and smallest 6-digit

number is

A. 100000


https://dl.doubtnut.com/l/_6oW88hxsj6Dj
https://dl.doubtnut.com/l/_e73DDFnR2iMk

B. 1999999

C. 99999

D. 1099999

Answer: D

o Watch Video Solution

14. Which of the following numbers is written according to

International System of Numeration?

A. 15,26,430

B. 1,526,430

C.1,52,64,30

D. None of these


https://dl.doubtnut.com/l/_e73DDFnR2iMk
https://dl.doubtnut.com/l/_uJOwqcoPhpzD

Answer: B

° Watch Video Solution

15. The number 6242530 is written in words as

A. six million two hundred forty two thousand thirty.

B. sixty two lakh forty two thousand five hundred thirty.

C. sixty lakh forty thousand five hundred thirty.

D. sixty two lakh forty thousand five hundred thirty.

Answer: B

O Watch Video Solution



https://dl.doubtnut.com/l/_uJOwqcoPhpzD
https://dl.doubtnut.com/l/_YWmGokH4Oljg

16. The largest 4-digit number that can be formed with the

digits 0,3,6,8 (without repetition) is

A. 0836

B. 8036

C. 8603

D. 8630

Answer: D

° Watch Video Solution

17. How many millilitres are there in 1kl?

A. 100000


https://dl.doubtnut.com/l/_uZtTWyQPrhsF
https://dl.doubtnut.com/l/_GpSb7dWv7xZv

B. 1000

C. 1000000

D. 100

Answer: C

o Watch Video Solution

18. Which of the following letters does not represent the

Roman numeral?

A.D

B.N

C.C

D. |


https://dl.doubtnut.com/l/_GpSb7dWv7xZv
https://dl.doubtnut.com/l/_aBI23QKaWtJI

Answer: B

o Watch Video Solution

19. The estimated product of 102X 92 is

A. 9500

B. 9000

C. 9800

D. 9400

Answer: B

° Watch Video Solution



https://dl.doubtnut.com/l/_aBI23QKaWtJI
https://dl.doubtnut.com/l/_lhMT9Drt0CWN

20. Which of the following numbers is the smallest?

A. Ten lakh three

B. One million five thousand

C. One million

D. One crore

Answer: C

o Watch Video Solution

21. Which of the following is true?

A VItV

B. XXIX gt XXXI


https://dl.doubtnut.com/l/_3aSeGhHVMBTu
https://dl.doubtnut.com/l/_701KUlEtm8QP

C. XIX gt XXI

D. Xl = XIV

Answer: A

° Watch Video Solution

22. The piece of cloth required for a shirt is 2 m 85 cm. How

much cloth will be required for 16 such shirts ?

A.45 m 16 cm

B.45 m 60 cm

C.50m 60 cm

D.32 m 60 cm

Answer: B


https://dl.doubtnut.com/l/_701KUlEtm8QP
https://dl.doubtnut.com/l/_TSw7cwQMVxjI

° Watch Video Solution

23. Estimated difference of (673 — 258) to the nearest

hundreds is

A.700
B.300
C. 400

D. None of these

Answer: C

° Watch Video Solution

24. Place value of a digit in a number is


https://dl.doubtnut.com/l/_TSw7cwQMVxjI
https://dl.doubtnut.com/l/_oEPq5zd2R3Vo
https://dl.doubtnut.com/l/_tp8dsnw5wG7N

A.Face value X value of the just preceding place it

occupies in place value chart

B. Face value X value of the place it occupies in the place

value chart

C. Face value

D. None of these

Answer: B

o Watch Video Solution

25. Smallest 6-digit number formed by using digits

5,0, 3, 2,6,1each onlyonce is

A. 032615


https://dl.doubtnut.com/l/_tp8dsnw5wG7N
https://dl.doubtnut.com/l/_LlemrWywZEja

B. 102356

C. 102365

D. 012356

Answer: B

o Watch Video Solution

26. Convert CDXCIV into Hindu-Arabic numeral.

A. 664

B.494

C. 666

D. 495


https://dl.doubtnut.com/l/_LlemrWywZEja
https://dl.doubtnut.com/l/_7CTox8YHLkyq

Answer: B

o Watch Video Solution

27. Find the difference in the place values of two fives in the

numeral 574513.

° Watch Video Solution

28. Find the estimated difference of 93125 — 76036 to the

nearest ten thousands.

A. 10000

B. 9000

C. 99000


https://dl.doubtnut.com/l/_7CTox8YHLkyq
https://dl.doubtnut.com/l/_ZGZHrIrHKSN3
https://dl.doubtnut.com/l/_PhgOyZymgu2p

D. 9800

Answer: A

° Watch Video Solution

29. The largest four digit even number that can be formed

with the digits 0, 7, 3, 6 (without repetition) is

A. 7036

B. 0736

C. 3067

D. 7630

Answer: D

| ° Watch Video Solution


https://dl.doubtnut.com/l/_PhgOyZymgu2p
https://dl.doubtnut.com/l/_DKWP31bXrtOb

30. The Roman numeral for 1506 is

A.DCVI

B. MDVI

C. MDVI

D. MDIV

Answer: B

O Watch Video Solution

31. Find the sum of the place values of 7 in 43, 726, 787.

A. 700700


https://dl.doubtnut.com/l/_DKWP31bXrtOb
https://dl.doubtnut.com/l/_KwrJorB4DEM5
https://dl.doubtnut.com/l/_8qz9jFRbvJNy

B. 707007

C. 700707

D. 70700

Answer: C

o Watch Video Solution

32. The difference between the face value and the place value

of 5in 85419 is

A. 4995

B. 4950

C. 4559

D. 4955


https://dl.doubtnut.com/l/_8qz9jFRbvJNy
https://dl.doubtnut.com/l/_fSGzAHuN7l9G

Answer: A

° Watch Video Solution

33. One million =........

A. 1lakh

B. 10 lakh

C.100 lakh

D.1crore

Answer: B

° Watch Video Solution



https://dl.doubtnut.com/l/_fSGzAHuN7l9G
https://dl.doubtnut.com/l/_rLdylLVYZZYF

34.The value of 95 x (100 — 23) is

A. 8315
B. 7315
C. 8185

D. 7185

Answer: B

o Watch Video Solution

35. A student multiplied 2736 by 35 instead of 53. How much

was his answer smaller than the correct one?

A. 41040


https://dl.doubtnut.com/l/_odZPrcBEDXsM
https://dl.doubtnut.com/l/_RvnIPbFAsXbE

B. 24624

C. 49248

D. 20520

Answer: C

° Watch Video Solution

Exercise Multiple Choice Questions Level 2

1. 3,00,000 people visited a park in 200 days and same

number of people visited the park everyday. How many people

visited the parkin 1 day?

A. 15000


https://dl.doubtnut.com/l/_RvnIPbFAsXbE
https://dl.doubtnut.com/l/_1PA85X0yxreW

B. 150

C. 1500

D. 3000

Answer: C

o Watch Video Solution

2. When a Roman numeral of smaller value is put between
two numbers of greater value, it is subtracted from the

numeral on its

A. Left

B. Right

C. Both sides


https://dl.doubtnut.com/l/_1PA85X0yxreW
https://dl.doubtnut.com/l/_AMF6NaecaIag

D. Next numeral from left

Answer: B

° Watch Video Solution

3. Which of the following sets of Roman numerals are written

in ascending order?

AV,L X, I

B.I,V,L, X

C.IV,X, L

D.X,V,I, L

Answer: C

| ° Watch Video Solution


https://dl.doubtnut.com/l/_AMF6NaecaIag
https://dl.doubtnut.com/l/_1kOP7vs4qR1a

4. Which of the following is a possible Roman number?

A. MCDVVXII

B. MCDXIV

C. MMMXVIX

D. MMDMXXII

Answer: B

O Watch Video Solution

5. Millions period consists of the places

A M, TM


https://dl.doubtnut.com/l/_1kOP7vs4qR1a
https://dl.doubtnut.com/l/_qLO88QvISYNi
https://dl.doubtnut.com/l/_WXppOlm1TNsj

B.M, TM, HM

C.TTH, HTH, M

D.O, T,M

Answer: B

o Watch Video Solution

6. Find the difference between the greatest and the smallest

number that can be formed using the digits 6, 2, 0, 4, 3, each

only once.

A. 43974

B. 61974

C. 40860


https://dl.doubtnut.com/l/_WXppOlm1TNsj
https://dl.doubtnut.com/l/_HsKMb1SFhuz8

D. 36972

Answer: A

° Watch Video Solution

7.Sangeeta types 25 pages per day. How many pages will she

type in the month of November?

A.900

B. 800

C.700

D. 750

Answer: D

| ° Watch Video Solution


https://dl.doubtnut.com/l/_HsKMb1SFhuz8
https://dl.doubtnut.com/l/_4wa9bqkqzMcI

8. Take two digits O and 1. Make the greatest 4-digit number

using both the digits equal number of times.

A.1100

B. 1001

C.1010

D. None of these

Answer: A

o Watch Video Solution

9.The difference between the largest three digit number and

the largest three digit number with distinct digits is


https://dl.doubtnut.com/l/_4wa9bqkqzMcI
https://dl.doubtnut.com/l/_lqGSXIfsFMol
https://dl.doubtnut.com/l/_D4pi38BPc4aG

A.10

B.O

C.12

D.13

Answer: C

o Watch Video Solution

10. The difference between the place value and face value of 8
in the greatest number formed using digits 6,9,4,2,8,7

each only once is

A.O

B.42


https://dl.doubtnut.com/l/_D4pi38BPc4aG
https://dl.doubtnut.com/l/_Qx7gmw2IQ0dI

C.7935

D. 79992

Answer: D

° Watch Video Solution

11. Which of the following is meaningless ?

A. XLVI

B.IC

C. LXXIX

D. DLXIX

Answer: B



https://dl.doubtnut.com/l/_Qx7gmw2IQ0dI
https://dl.doubtnut.com/l/_sTjqkorDvtVl
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12. The smallest 4-digit number formed using any four

different digits such that 5 is at ones place is

A.1025

B. 1205

C. 1250

D. None of these

Answer: A

° Watch Video Solution

13.100 bags contain 5000 kg of wheat. How many bags will be

needed to pack 13650 kg of wheat?


https://dl.doubtnut.com/l/_sTjqkorDvtVl
https://dl.doubtnut.com/l/_tTcaA0kilrYN
https://dl.doubtnut.com/l/_5o5O7SUNrNwl

A. 273

B. 237

C.373

D. 337

Answer: A

° Watch Video Solution

14. If 502034 = 500000 + n + 30 + 4, then the value of n is

A2

B. 20

C. 200


https://dl.doubtnut.com/l/_5o5O7SUNrNwl
https://dl.doubtnut.com/l/_b7LhJvFVJNCg

D. 2000

Answer: D

o Watch Video Solution

15. The place value of 7 in 527094 is the same as

A. 7000 + 1094

B. 7094 — 90

C. 6094 + 906

D. 8094 — 94
Answer: C

° Watch Video Solution



https://dl.doubtnut.com/l/_b7LhJvFVJNCg
https://dl.doubtnut.com/l/_ogXaYHoB2mAa

Exercise Match The Following

1. In this section, each question has two matching lists.
Choices for the correct combination of elements from List-l
and List-ll are given as options (a), (b), (c) and (d) out of which
one is correct.

Match the following :

List-l List-11
(1" 1 lakh . 1) Lens
(1 thousand 2| mallion
(R | crore 1 | (W) thaoisands

iS5 il lakh 4. 10 pralleons

A.P-1,0-2,R-3,5-4

B. P-3, Q-1,R-2,5-4

C.P-3,0-1,R-4,5-2

D. P-4, Q-2, R-3, S-1


https://dl.doubtnut.com/l/_rs1lauh8RDqm

Answer: C

o Watch Video Solution

2. In this section, each question has two matching lists.
Choices for the correct combination of elements from List-l
and List-ll are given as options (a), (b), (c) and (d) out of which
one is correct.

Match the following :

L ist-1 List-l1
R O | 35
LI TR ¥ 2. W
S i | W)
(51 MD i 44

A.P-2,0-3,R-1,5-4

B. P-4, Q-3,R-2, S-1


https://dl.doubtnut.com/l/_rs1lauh8RDqm
https://dl.doubtnut.com/l/_CMDicXDBwMnN

C.P-2,Q-1,R-4,S-3

D. P-4, Q-1,R-2,S-3

Answer: D

° Watch Video Solution

3. In this section, each question has two matching lists.
Choices for the correct combination of elements from List-l
and List-ll are given as options (a), (b), (c) and (d) out of which

one is correct.


https://dl.doubtnut.com/l/_CMDicXDBwMnN
https://dl.doubtnut.com/l/_n4UFTeH09unf

Match the following :

List-1

i Round off 2687
the neareslt 1I‘.l'HI 1%

(L Nine mulhon borty six
Honsand one loned red
Fifty 1s

(RY 5= 1,00, 000 + 2 = [0 (00
Ed o | INNE 4 B o [OKD 4 B
15 eequial o

(51 Smallest b-digit number
using only one digt s

A.P-2,Q-1,R-3,5-4

B. P-4, Q-3, R-2, S-1

C.P-1,0Q-2,R-3,S-4

D. P-4, Q-2, R-3, S-1

Answer: B

F-d

5,23 ml15

kb | 50

N0

o Watch Video Solution



https://dl.doubtnut.com/l/_n4UFTeH09unf

Exercise Assertion Reason Type

1. Directions : In each of the following questions, a statement
of Assertion is given followed by a corresponding statement
of Reason just below it. Of the statements, mark the correct
answer as

Assertion : Smallest 7-digit number using only digit one is
1000000.

Reason : Smallest number is obtained by putting the smallest

digit at the left most place except O.

A. If both assertion and reason are true and reason is the

correct explanation of assertion.

B. If both assertion and reason are true but reason is not

the correct explanation of assertion.


https://dl.doubtnut.com/l/_rrMXpratRk91

C. If assertion is true but reason is false.

D. If assertion is false but reason is true.

Answer: D

o Watch Video Solution

2. Directions : In each of the following questions, a statement
of Assertion is given followed by a corresponding statement
of Reason just below it. Of the statements, mark the correct
answer as

Assertion : The place value and face value of digit 8 in
18,002,403 is 8 x 1, 000, 000 and 8 respectively.

Reason : Place value is value of digit itself and face value

depends upon the place it occupies.


https://dl.doubtnut.com/l/_rrMXpratRk91
https://dl.doubtnut.com/l/_40aWVvXuaPGe

A. If both assertion and reason are true and reason is the

correct explanation of assertion.

B. If both assertion and reason are true but reason is not

the correct explanation of assertion.

C. If assertion is true but reason is false.

D. If assertion is false but reason is true.

Answer: C

o Watch Video Solution

3. Directions : In each of the following questions, a statement
of Assertion is given followed by a corresponding statement
of Reason just below it. Of the statements, mark the correct

answer as


https://dl.doubtnut.com/l/_40aWVvXuaPGe
https://dl.doubtnut.com/l/_zjuINAgUfxHF

Assertion : After placing comma in the number 56943821
according to International System of Numeration, the
number is written as 56,943,821.
Reason : To write a numeral in the Indian System, commas are
first put after three digits from the right and then after every
two digits.
A. If both assertion and reason are true and reason is the
correct explanation of assertion.
B. If both assertion and reason are true but reason is not
the correct explanation of assertion.

C. If assertion is true but reason is false.

D. If assertion is false but reason is true.

Answer: B

| o \Wiakt~h \NidaA CAliikian



https://dl.doubtnut.com/l/_zjuINAgUfxHF
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4. Directions : In each of the following questions, a statement
of Assertion is given followed by a corresponding statement
of Reason just below it. Of the statements, mark the correct
answer as

Assertion : Estimated sum of 8001 and 457 is 8500.

Reason : Estimation is done by rounding off the numbers to

the nearest places.

A. If both assertion and reason are true and reason is the

correct explanation of assertion.

B. If both assertion and reason are true but reason is not

the correct explanation of assertion.

C. If assertion is true but reason is false.


https://dl.doubtnut.com/l/_zjuINAgUfxHF
https://dl.doubtnut.com/l/_SN6oQKOYecIv

D. If assertion is false but reason is true.

Answer: A

° Watch Video Solution

5. Directions : In each of the following questions, a statement
of Assertion is given followed by a corresponding statement
of Reason just below it. Of the statements, mark the correct
answer as

Assertion : Roman numeral of 1400 is MDC.

Reason : A symbol is placed before the symbol of greater

value, the symbol of lesser value is subtracted.

A. If both assertion and reason are true and reason is the

correct explanation of assertion.


https://dl.doubtnut.com/l/_SN6oQKOYecIv
https://dl.doubtnut.com/l/_FSP9gHi2D4z9

B. If both assertion and reason are true but reason is not

the correct explanation of assertion.

C. If assertion is true but reason is false.

D. If assertion is false but reason is true.

Answer: D

° Watch Video Solution

Exercise Multiple Choice Questions Comprehension Type

1.1 kg = 1000 grams = 1000000 mg and 1 m = 100 cm
= 1000 mm.

Convert 3 kg 15 grams into milligrams.


https://dl.doubtnut.com/l/_FSP9gHi2D4z9
https://dl.doubtnut.com/l/_EQnxWVOREqbt

A. 3015000 mg

B. 301500 mg

C.3015 mg

D. None of these

Answer: A

o Watch Video Solution

2. PASSAGE-I: 1 kg = 1000 grams = 1000000 mg and 1 m
= 100 cm = 1000 mm.

Neena bought 5 kg 500 g wheat from the market. She filled a
container which could take 400 g of wheat. How much wheat

is left out?

A.5000 g


https://dl.doubtnut.com/l/_EQnxWVOREqbt
https://dl.doubtnut.com/l/_4V0VlE4rVqMh

B.5400 g

C.5500 g

D.5100 g

Answer: D

o Watch Video Solution

3. PASSAGE-l: 1 kg = 1000 grams = 1000000 mg and 1 m
= 100 cm = 1000 mm.
3 m 20 cm of cloth is used for one shirt. What length of cloth

will be used for 3 such shirts?

A.6m90 cm

B.9m 60 cm


https://dl.doubtnut.com/l/_4V0VlE4rVqMh
https://dl.doubtnut.com/l/_XNXdqh2tuEL0

C. 9600 cm

D.1Tm 60 cm

Answer: B

° Watch Video Solution

Exercise Comprehension Type

1.

[5-':1.-111th | X L

C

- :

| Value | 1 | 10 | 50

100

500

10

What is the Roman numeral of 70?

A. XXL

B. XXC



https://dl.doubtnut.com/l/_XNXdqh2tuEL0
https://dl.doubtnut.com/l/_z53wkAGf5w5g

C. CXX

D. LXX

Answer: D

° Watch Video Solution

2. PASSAGE-II :
Symbol | | X | L | C D M
Value | 10 | 50 | 100 | 500 | 1000

Find the sum of LX and XC.

A. 160

B. 150

C.140

D.130



https://dl.doubtnut.com/l/_z53wkAGf5w5g
https://dl.doubtnut.com/l/_zOBg0oIxtged

Answer: B

o Watch Video Solution

3. PASSAGE-II :

[ !:1,-111lml |

| Value |

{1

— e

50)

D

M

100

500

MO0

Hindu - Arabic numeral of MV is

A. 1500

B. 1005

C.1400

D. 995

Answer: B

[ ° Watch Video Solution



https://dl.doubtnut.com/l/_zOBg0oIxtged
https://dl.doubtnut.com/l/_lrEcrPgS1xWJ

Exercise Subjective Problems Very Short Answer Type

1. Write expressions for the following using brackets. "Forty

nine divided by three times the sum of five and seven".

o Watch Video Solution

2. Express "Eight crore five thousand six" in numerals.

0 Watch Video Solution

3. Rearrange the given numbers in ascending order.

5,90, 672; 5, 09, 762; 2, 69, 705; 7, 06, 259; 9, 07, 526.

[ - !


https://dl.doubtnut.com/l/_lrEcrPgS1xWJ
https://dl.doubtnut.com/l/_kLl54c3sD8Sw
https://dl.doubtnut.com/l/_RMQqbtGscqEg
https://dl.doubtnut.com/l/_7E4Iw3tD2ZMC

l & Watch Video Solution ]

4. Compare : 40017 __ 40007

o Watch Video Solution

5. What is the largest 5-digit number with 2 at ones place and

3 at tens place ?

° Watch Video Solution

6. Write the Hindu-Arabic numeral of CCL.

o Watch Video Solution



https://dl.doubtnut.com/l/_7E4Iw3tD2ZMC
https://dl.doubtnut.com/l/_eoMaULrTAM4a
https://dl.doubtnut.com/l/_rZEAgygAU2cc
https://dl.doubtnut.com/l/_K4p3WeBNXk3S

7.Find the sum of the place values of 7 and 4 in 43, 627, 897.

° Watch Video Solution

8. Find the product by suitable estimation, 1211 x 321.

° Watch Video Solution

9. Write the smallest 8-digit number having five different

digits.

° Watch Video Solution



https://dl.doubtnut.com/l/_SyVCSvPSPFyK
https://dl.doubtnut.com/l/_oVVGa4bSjLQb
https://dl.doubtnut.com/l/_bzZ2iWw1aJck

10. Insert commas according to Indian System of Numeration:

28754263

° Watch Video Solution

11. Insert commas according to Indian System of Numeration:

3864259

O Watch Video Solution

Exercise Subjective Problems Short Answer Type

1. Write the number names of each of the following:

534, 567, 891

I n war_a I w0 _ _ o~_01__32°_ _


https://dl.doubtnut.com/l/_88dKohuEg1ez
https://dl.doubtnut.com/l/_96pgUx5qzOay
https://dl.doubtnut.com/l/_kSsvBGO7I6jA
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2. Write the number names of each of the following:

23, 46, 891

o Watch Video Solution

3. Write the number names of each of the following:

386, 212

° Watch Video Solution

4. Write the number names of each of the following:

2,12, 42, 861

o Watch Video Solution



https://dl.doubtnut.com/l/_kSsvBGO7I6jA
https://dl.doubtnut.com/l/_EvSVqUAkfxH3
https://dl.doubtnut.com/l/_ValxXjmJseQc
https://dl.doubtnut.com/l/_QWCT8BEhvtwx

5. The total expenses of a birthday party of 30 boys were Rs.
15,000. All shared the expenses equally. How much money was

spent by each boy in the party?

° Watch Video Solution

6. Use the given digits 2,3, 8,9, 0 without repetition and

make the greatest and smallest 5-digit numbers.

° Watch Video Solution

7. Estimate the sum of 5390 and 715 by rounding off the

numbers to their nearest hundreds and tens respectively.

o Watch Video Solution



https://dl.doubtnut.com/l/_QWCT8BEhvtwx
https://dl.doubtnut.com/l/_HK7HHgWsmOD6
https://dl.doubtnut.com/l/_PDoCDrYDsp9k
https://dl.doubtnut.com/l/_pt0y6FqbdqJG

8. Estimate the following :

898 x 595

° Watch Video Solution

9. Estimate the following :

1368 x 2105

o Watch Video Solution

10. Estimate the following :

1913 — 913

° Watch Video Solution



https://dl.doubtnut.com/l/_pt0y6FqbdqJG
https://dl.doubtnut.com/l/_s5ie8TuKuEtW
https://dl.doubtnut.com/l/_r6mJHeIskfCs
https://dl.doubtnut.com/l/_6y9cgADoHX1p

11. Write the numerals with commas of each of the following:

Six million fifty thousand three hundred six.

o Watch Video Solution

12. Write the numerals with commas of each of the following:

Twenty six lakh forty eight thousand two hundred five.

o Watch Video Solution

13. Write the numerals with commas of each of the following:
Eight hundred eight million eighty thousand eight hundred

eight.

° Watch Video Solution



https://dl.doubtnut.com/l/_GMMHuZ4TnR7Q
https://dl.doubtnut.com/l/_aVP9PHxsn3z9
https://dl.doubtnut.com/l/_D5dpSXJVTnJU

14. Write the numerals with commas of each of the following:
Two crore twenty lakh twenty two thousand two hundred

two.

° Watch Video Solution

15. Write the following in expanded form.

286542

o Watch Video Solution

16. Write the following in expanded form.

19360654

° Watch Video Solution



https://dl.doubtnut.com/l/_cU6DJxCEPad3
https://dl.doubtnut.com/l/_V1ZRlOldVBRv
https://dl.doubtnut.com/l/_D0lp3AXMPv2a

17. Write the following in expanded form.

1212121

° Watch Video Solution

18. Compare the following by using <, > or =.

XXVIII, 29

o Watch Video Solution

19. Compare the following by using <, > or =.

42, XLII

° Watch Video Solution



https://dl.doubtnut.com/l/_aAf6GdQdM8g6
https://dl.doubtnut.com/l/_L2bQVhIoepuO
https://dl.doubtnut.com/l/_vOEfgiov8DEy
https://dl.doubtnut.com/l/_xhpg49zes4BA

20. Compare the following by using <, > or =.

386, CCL

° Watch Video Solution

21. Compare the following by using <, > or =.

460, DC

° Watch Video Solution

22. Write the following in standard form.

70, 00, 000 + 80, 000 + 900

© Watch video Solution



https://dl.doubtnut.com/l/_xhpg49zes4BA
https://dl.doubtnut.com/l/_n7b46ThOKYUH
https://dl.doubtnut.com/l/_ZeZ8fFQW46sS

23. Write the following in standard form.

4, 00, 000 + 50, 000 + 5, 000 + 50 + 5

o Watch Video Solution

24. Write the following in standard form.

36, 000 + 400 + 20 + 5

° Watch Video Solution

25. Simplify the following using brackets.

428 x 20

o Watch Video Solution



https://dl.doubtnut.com/l/_nWC2gND35PBb
https://dl.doubtnut.com/l/_rMCXt0C2AdTb
https://dl.doubtnut.com/l/_3P2Bwk5M75Iu
https://dl.doubtnut.com/l/_EzqFjzXUZlAM

26. Simplify the following using brackets.

98 x 102

° Watch Video Solution

27. Simplify the following using brackets.

305 x 40

° Watch Video Solution

28. Simplify the following using brackets.

36 x 48

o Watch Video Solution



https://dl.doubtnut.com/l/_EzqFjzXUZlAM
https://dl.doubtnut.com/l/_PYfWvAjLdsZq
https://dl.doubtnut.com/l/_IE50048DE8oC

Exercise Subjective Problems Long Answer Type

1. Insert comma in the following numbers according to Indian
and International System of Numeration.

321543302

° Watch Video Solution

2. Insert comma in the following numbers according to Indian
and International System of Numeration.

136843

° Watch Video Solution



https://dl.doubtnut.com/l/_0mxDLzwvgdhG
https://dl.doubtnut.com/l/_6kB2QEyHY3cI

3. Rani bought 6 bags of cement, each weighing 18 kg 300 g.

Find the total weight of cement.

o Watch Video Solution

4. Exchange the 2™ and 4™ digits of the numeral 4,92,576
and find the new n umber formed. Also identify the place

value of digit 5 in the new number.

° Watch Video Solution

5.Find the sum.

MCD + CCL + DCL

° Watch Video Solution



https://dl.doubtnut.com/l/_yzq4ffWcULEP
https://dl.doubtnut.com/l/_3hvKZLV4rZ35
https://dl.doubtnut.com/l/_BgZ0mwTwfVym

6. Find the sum.

MMCDVII + CLVII + CIII

° Watch Video Solution

7. Find the sum.

XXIIT+ XLVIl + XXX

o Watch Video Solution

8. Find the sum.

MXXVIII + DCVII + DVIII

° Watch Video Solution



https://dl.doubtnut.com/l/_A2tj52wup0XL
https://dl.doubtnut.com/l/_l6SqMoqFZeHi
https://dl.doubtnut.com/l/_Ox8tPyJwr9Rs
https://dl.doubtnut.com/l/_O723csflyYEn

9. Write the following in Roman numerals.

497

° Watch Video Solution

10. Write the following in Roman numerals.

6219

° Watch Video Solution

11. Write the following in Roman numerals.

23432

© Watch video Solution



https://dl.doubtnut.com/l/_O723csflyYEn
https://dl.doubtnut.com/l/_sVOM8SnhTNyQ
https://dl.doubtnut.com/l/_ch1EjX7XFYIv

12. Write the following in Roman numerals.

3261

° Watch Video Solution

13. Write the following in Roman numerals.

48250

o Watch Video Solution

14. Write the following in Roman numerals.

888

° Watch Video Solution



https://dl.doubtnut.com/l/_nLtefXyxnn4X
https://dl.doubtnut.com/l/_qEN5KaeJShA7
https://dl.doubtnut.com/l/_j9nJg8kWaF15
https://dl.doubtnut.com/l/_I8UehQ40QiIU

15. Write the following in Roman numerals.

18

° Watch Video Solution

16. Write the following in Roman numerals.

96

° Watch Video Solution

Exercise Integer Numerical Value Type

1. What is the digit at the thousands place of 7, 21, 584?

° Watch Video Solution



https://dl.doubtnut.com/l/_I8UehQ40QiIU
https://dl.doubtnut.com/l/_Btd8OxlOGX4e
https://dl.doubtnut.com/l/_sCB3jlVkN6Gp
https://dl.doubtnut.com/l/_9YVeoY9h2Pb0

2. Which digit of the number 871,253,564 has the same face

and place value?

° Watch Video Solution

3. The face value of 7 in 4,26,76,254 is

° Watch Video Solution

4. What is the Hindu-Arabic numeral for XCV?

o Watch Video Solution

5. What does the Roman numeral VIl represents?

e . l


https://dl.doubtnut.com/l/_9YVeoY9h2Pb0
https://dl.doubtnut.com/l/_FZTyib09kRsw
https://dl.doubtnut.com/l/_195hMJDxvtVu
https://dl.doubtnut.com/l/_Hitwba1TnM0W

| ' vvatcn video solution ]

6. What is the product of digits of a round off number, if the

number is 112?

° Watch Video Solution

7. Estimate the difference of 803 and 450.

o Watch Video Solution

8. What is sum of digits of the greatest 4-digit number

formed by two different digits?

° Watch Video Solution



https://dl.doubtnut.com/l/_Hitwba1TnM0W
https://dl.doubtnut.com/l/_456iUpdcFank
https://dl.doubtnut.com/l/_yB9IbJRpiujl
https://dl.doubtnut.com/l/_116BSYIBdsOO
https://dl.doubtnut.com/l/_5KSyDKfgpm7h

9. How many zeroes are there in ten lakh?

° Watch Video Solution

10. What is the product of digits at the 100 thousands and

ten millions place of the given number 16, 732, 4967

° Watch Video Solution

Olympiad Hots Corner

1. Which of the following statements is/are incorrect?
(i) Eighty four in Roman numeral is written as CXXXIV.
(ii) There are seven zeroes in 1 crore.

(iii) There are ten thousand milligrams in 1 kg.


https://dl.doubtnut.com/l/_5KSyDKfgpm7h
https://dl.doubtnut.com/l/_bXxWUWinghM5
https://dl.doubtnut.com/l/_pTwMfmhpCtea

(iv) The smallest4-digitnumber formed by using all the digits

4, 3,0, 8 without repetition is 3048.

A. Both (i) and (iii)

B. Both (i) and (iv)

C. only (i)

D. Only (iii)

Answer: A

o Watch Video Solution

2. Latika, Garima and Sanchi draw 3 cards each from 9 cards
numbered from 1to 9.
Latika: L, Garima: G, Sanchi: S

L : The product of my numbers is 48.


https://dl.doubtnut.com/l/_pTwMfmhpCtea
https://dl.doubtnut.com/l/_KRhvEIvGNFRJ

G : The sum of my numbers is 15.
S : The product of my numbers is 63.
What is the sum of numbers on the cards drawn of Latika and
Sanchi?
A. 28
B. 32

C.30

D. 45

Answer: C

o Watch Video Solution

3. A truck can carry 582 boxes of biscuits weighing 16 kg each,

whereas a van can carry 359 such boxes. Find the total weight


https://dl.doubtnut.com/l/_KRhvEIvGNFRJ
https://dl.doubtnut.com/l/_ETuRkYbO7k7p

that can be carried by both the vehicles.

A. 20000 kg

B. 15056 kg

C. 25000 kg

D. 12000 kg

Answer: B

° Watch Video Solution

4. Select the correct statement

A. 1592 rounded off to nearest tens is 1600.

B. 7532 rounded off to nearest thousands is 7500.

C. 245 rounded off to nearest hundreds is 240.


https://dl.doubtnut.com/l/_ETuRkYbO7k7p
https://dl.doubtnut.com/l/_ZK9GfYBcUWLl

D. 214653 rounded off to nearest ten thousands is 210000.

Answer: D

o Watch Video Solution

5. A cold storage company had a stock of 58970252 egg trays.
Out of this stock, 3789441 egg trays were sent to Delhi and
4207985 egg trays were sent to Punjab for public
consumption. How much is the exact eggs count left with
company, if an egg tray contains 30 eggs?

A. 1529184780

B. 1509184780

C. 1529084780

D. 1529184880


https://dl.doubtnut.com/l/_ZK9GfYBcUWLl
https://dl.doubtnut.com/l/_Yx5LjauqVrF2

Answer: A

o Watch Video Solution

6. The value of CMLXXXII + CCLIV is

A. CDLXV

B. MCCCLXV

C. MCCXXXVI

D. MCMXCVI

Answer: C

° Watch Video Solution



https://dl.doubtnut.com/l/_Yx5LjauqVrF2
https://dl.doubtnut.com/l/_dpZOmtq5CEtm

7. Find the difference between 7234042 rounded to the

nearest thousands and 42568 rounded to the nearest

hundreds.

A. 7191400

B. 7191470

C. 7192000

D. 7191000

Answer: A

o Watch Video Solution

8. Find the estimated difference between 16928 and 8952 by

rounding off each number to nearest hundreds.


https://dl.doubtnut.com/l/_mmzSweWQ2Zpc
https://dl.doubtnut.com/l/_Q2YPkZcxGTbq

A. 7900

B. 8000

C. 7800

D. 7976

Answer: A

o Watch Video Solution

. Find the value of

LVIIT + XXN + LXXXIX + XXXII — XCIV

A. XCIX

B. XCVIII

C.CIX


https://dl.doubtnut.com/l/_Q2YPkZcxGTbq
https://dl.doubtnut.com/l/_oL66sX1MlOm1

D. CVII

Answer: C

° View Text Solution

10. The number 7250371 is written in International System of

Numeration as

A. Seventy two lakh fifty thousand three hundred seventy

one.

B.Seven million twenty five thousand three hundred

seventy one.

C.Seven million two hundred fitly thousand three

hundred seventy one.


https://dl.doubtnut.com/l/_oL66sX1MlOm1
https://dl.doubtnut.com/l/_bF9PBCQVLjyr

D. None of these

Answer: C

° Watch Video Solution

11. Find the difference between the smallest 5-digit number
and the greatest 5-digit number formed by using the digits
6, 8, 2,5 and 9 (using each digit only once).

A. 27936

B. 72963

C. 56293

D. 39576

Answer: B


https://dl.doubtnut.com/l/_bF9PBCQVLjyr
https://dl.doubtnut.com/l/_RANxBD1otUPl

° Watch Video Solution

12. Which of the following options gives the result CCC?

A. MXIII- DCCXIV

B. LXIV + CCXXVI

C. CXXIX + CLXXI

D. XCVI + CClI

Answer: C

° Watch Video Solution

13. Vidhi writes the smallest 6-digit number and Ridhi writes

the greatest 7-digit number on the blackboard. Their Maths


https://dl.doubtnut.com/l/_RANxBD1otUPl
https://dl.doubtnut.com/l/_KS9UVoIDIVBs
https://dl.doubtnut.com/l/_F7IxQTfMRVIc

teacher finds the difference between the smallest 4-digit

number and the sum of the two numbers written on the

blackboard. What would be the answer?

A. 10099999

B. 10098999

C. 19999890

D. 10069998

Answer: B

° Watch Video Solution

14. If a number is formed by interchanging the digits at tens
and thousands places of 7939, then which of the following is

correct?


https://dl.doubtnut.com/l/_F7IxQTfMRVIc
https://dl.doubtnut.com/l/_Kb06RYzUnbP9

A.New number > Original number

B. New number < Original number

C. New number = Original number

D. None of these

Answer: B

o Watch Video Solution

15. Divide the place value of 5 in 256798 by 1 less than the

predecessor of 10002.

A. 501

B. 50

C. 5001


https://dl.doubtnut.com/l/_Kb06RYzUnbP9
https://dl.doubtnut.com/l/_67LnZ4084r6U

D.5

Answer: D

° Watch Video Solution

16. The number 90406092 is written in International System

of Numeration as

A. Nine crore forty lakh sixty thousand ninety two

B. Ninety million forty lakh six thousand ninety two

C. Ninety million four hundred six and ninety two

D. Ninety million four hundred six thousand ninety two

Answer: D

| ° Watch Video Solution


https://dl.doubtnut.com/l/_67LnZ4084r6U
https://dl.doubtnut.com/l/_A5QyJFCuQEKc

17. Match the following and select the correct option.

Column-I Column-11
(" 40 lakh = i ki () T
(2 The valhye of ¥ = C = M = X 1) SO
1=

(R)y The value of CTXYI « XHT « () 200000
Wi+ DU XY - XY s

%) Estimated FI-IE'I'HJLJ.L‘! of MR8 1wy 4

anid 123 2

A. (P) = (iv), (Q) = (ii), (R) = (iii), (S) > (i)
B. (P) = (ii), (Q) = (iv), (R) = (i), (S) = (iii)
C. (P) = (ii), (Q) = (iv), (R) = (iii), (S) = (i)

D. (P) = (iv), (Q) = (ii), (R) = (i), (S) = (iii)

Answer: D

| o Watch Video Solution


https://dl.doubtnut.com/l/_A5QyJFCuQEKc
https://dl.doubtnut.com/l/_RQ0LkgchSXZ2

18. Which of the following statements is incorrect?

A. The symbol X can be subtracted from L and C only.

B.V, L and D are never repeated.

C.V,Land D are never subtracted

D.l or V can be written to the left of L or C.

Answer: D

° Watch Video Solution

19. 80325901 can be written in words as


https://dl.doubtnut.com/l/_RQ0LkgchSXZ2
https://dl.doubtnut.com/l/_uK8eC3Wdwa5E
https://dl.doubtnut.com/l/_XKy28nEnJih0

A. Eight crore thirty two lakh five thousand nine hundred

one

B.Eight crore three lakh twenty five thousand nine

hundred one

C. Eighty lakh thirty two thousand nine hundred one

D. Eighty crore thirty two lakh five thousand nine hundred

one

Answer: B

o Watch Video Solution

20. Latika's monthly salary was Rs. 30525. She spent Rs. 1800

and saved the rest. How much did she save in a year?


https://dl.doubtnut.com/l/_XKy28nEnJih0
https://dl.doubtnut.com/l/_NMQIuDH2mWFE

A.Rs. 344700

B. Rs. 315975

C. Rs. 248960

D. Rs. 212840

Answer: A

° Watch Video Solution



https://dl.doubtnut.com/l/_NMQIuDH2mWFE

